General English
Direction: Read the following passage and answer each of the questions that follow:

In India the apparatus of the state has become an integral part of what Americans term the iron
triangle - a collusion of (a) those who benefit from the subsidies such as the industry, urban
population, rich farmers (b) those who decide on who is to be subsidized at whose cost such as the
politicians; and (c) those who administer the subsidies, that is bureaucracy.

We can explain this with an example - the example of bamboo. Bamboo has been made available to
paper mills at rates which are very low when the basket weavers are buying it in the market in a
higher price - several thousand rupees per tonne. Cement factories receive power and raw materials
at subsidized rates and pass on the cost of production to the society at large. Cement thus
subsidized flows to cities and towns and the metropolises. These metropolises and cities and towns
also attract large quantities of brick made from the previous topsoil of farms and baked with old
banyan trees which are now being liquidated for kilns.

When a giant hydel project on a river in on~ state was constructed the bulk of its power was given
over 10 a single aluminum industry at a few paise per unit, well below the cost of production, Later,
the state government decided to charge only a nominal flat rate per irrigation pump, ensuring that
the farmers kept the pumps running whether they needed the water or not. Villagers who lose their
lands and small homes under irrigation projects have always been inadequately compensated,
thereby beneficiaries in the command areas never have to pay for water to take care of even these
artificially depressed costs.

1. Which of the following describes correctly the approach of the author?
(a) positive criticism followed by suggestions for improvement
{b) proves how government has handled the situation effectively
{c) one sided, negative and highly critical
(d) indifference to both government and welfare of the people

2. Which of the following has not been referred to in the passage
(a) brick (c) aluminum
(b) paper (d) iron

3. Which of the following is the main reason which helps the authorities to keep costs of irrigation
project low?
(i) The beneficiaries contribute money to the project
(i) The government keeps nominal rates for the supply
{ili) Low consumption is provided to the affected villagers

(a) only (ii) (c) only (iii)
{b) only (i) (d) both (i) and (ii)
4. According to the author who decides the beneficiaries of various subsidies
(a) the bureaucrats (c) rich farmers
(b) the industrialists (d) none of these

5. The author has given sufficient examples which make us feel that
(i) proper costing of the projects Is not being done by the government
(il) the government is protecting the interest of the rich and urban people
(lii) the present practice of subsidy should be reviewed

(a) only (i) and (ii) (c) only (ii) and (iil)
(b) only (i) and (i) (d) all the three (1), (i), (iii)

6. Which of the following statement is true in the context of the passage?
(a) paper mills and basket weavers both get bamboo at a very low cost
(b) wood from banyan trees is used by cement factories
(c) the government machinery is taking a balanced view about development
(d) the cement industry is responsible for polluting the atmosphere

7. Three of the four words used in the passage form one group but the fourth word does not
belong to that group. Find out that word.

(a) giant (c) bulk
(b) high (d) large
8. In this passage the expression “old banyan trees now being liquidated” means
(a) the trees are being destroyed (c) the trees are being logged
(b) the trees are being transported (d) none of these

9. Give the synonym of the word ‘collusion’ from among the choices given below

(a) asecret agreement (c) a disagreement
(b) a meeting (d) none of these
10. Select from among the choices given below the word that is an antonym of the word ‘bulk’.
(a) Fat (c) thin
(b) Shapeless ; (d) smallness

Direction : In each of the following sentences there is an error in one of the parts marked 3, b, ¢, d.
Find out the incorrect part of the sentence.
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Direction: Fill in each of the numbered blanks in the following passage with the most suitable word
from the choices provided under the passage.

Pakistan keeps on _21 that Kashmir is the core issue _ 22 to adversarial relations. To India also
Kashmir is the core issue __23  not only its security and stability but also __24 _ geopolitical
equations between all countries __25 _ South Asia’s land mass. It is the core issue because
the __26 in which India deals with the problem in Kashmir, the manner in which both India and
Pakistan __27 _ this problem and the manner in which the international community _ 28  to the

situation profoundly __29  the existence of the Indian Republic as a

religious and multi ethnic pluralistic state.

21
22
23
24
25,
26
27
28
29
30

. (3) saying (b) herping (c) arguing

. (3) making (b) bringing (c) leading

. (a) affecting (b) effecting (c) creating
.(a)its (b) the (c) also

. (a) within (b) of the (c)in

. (a) time (b) timing (c) manner

. (a) resolve (b) resolves (c) resotved
. (a) react (b) reacts (c) threatens
. (a) reflect (b) reflects (c) effects

. (a) important (b) internal (c) integral

30 _ multiingual, multi-

{d) justifying
(d) tending

(d) tarnishing
(d) world’s

(d) around

(d) folly

(d) created

(d) behave

(d) affects

(d) democratic

Direction: In the following questions some phrases are given. Under each phrase four answer
chaices are provided. Select from the answer choices the expression which conveys the meaning of

the phrase.
31 in build castles in the air
{3a) to work without any gain 3 (c) to collect fortune
(b) to have fanciful ideas (d) to work selflessly
32, To break the ice
(3) to make fuss for nothing (c) to do something that makes feel relaxed
(b) to do a difficult task (d) to work very hard
33. To bite the dust
(a) toleam a lesson (c) to be ashamed of
(b) to work very hard (d) to be defeated
34. To cut no ice with .
(a) to have no effect or influence on somebody  (c) to cease to be friendly
(b) to use no ice (d) to discontinue relation
35. To face the music
(a) to face consequences (c) to be In a musical show
(b) to face hostility (d) to have musical talent
36. To be hell-bent
(3) to experience hellish situation (c) to be determined to do something
(b) to do something really bad (d) to be engaged in criminal acts
37. To throw down the gauntlet
(3) to put a challenge (c) to discard civility

(b) to behave as an important person (d) none of these

38. To feather one's own nest
(a) being lazy in doing ane's work {c) spending money 0 oneself
(b) being too generous (d) neglecting one’s job

39. Abull in a China shop
(a) a person who is fond of shopping
(b) a bull that cannot be controlled
(c) a person who is careless, or moves awkwardly in a situation
(d) a man who behaves in unacceptable manner

40. Dog in the manger
. (a) adog that has no kennel
(b) a person who stops others from enjoying what he/she cannot do
(c) a person who faces difficulty
(d) a miserly person

Directlon: Fill in the blank in each of the following sentences with the appropriate word/phrase from
the given choices under each sentence.

41. The judge decided to resign when he was for promoation to Chief Justice. o
(a) Passed by (b) passed over (c) passed off (d) passed oul
42. They felt as if the ground was ____ beneath their feet.
(a) slipping. {b) sinking {c) smashing (d)-bursting
43; What you say has hardly any bearing __ the lives of the poor slum dwellers.
(a) in (b) over (c)on ; (d) for
i lass.
44. Keep clear the rowdy boys in the ¢ —
(a) from (b) of {c) away (d)
45. You have come here with a view — me. e bk
(a) to insulting (b) of insulting (c) for insulting (d)
iends.
46. He is so bad tempered that he hfas ___frien - —
(a) afew (b) few
ife i i h to enjoy pleasures we must also ____pains.
47. :)\):r tI;f‘e ;s such that if we wis(b) neglle cyt rel ot ‘ (6] endure
a) den
48. Have you got any money (b)y::. (i ok (d) none of these
(a) with
forest at night.
49. It is dangerous to walk (t:;;n (c) through {d) onto
(a) across
50. | can see ___ her cleaver plans. () into {d) for

(a) about (b) through



Direction: In each of the following sentences one part has been underlined. Below each sentence
four possible substitutions of the underlined part is given. Choose the most suitable substitution.
S1. You would have succeeded If you acted upon my advice.

(a) had acted (c) would have acted

(b) have acted (d) have had acted

$2. We could not help admire his courage.

(a) could not but (c) could not help but

(b) could not help to (d) could have
53. It is time you tell the truth.

(a) told (c) should tell

(b) have told (d) are telling

S4. The manager asked him that he should not enter his office.
(a) don’t enter (c) to not enter
(b) not to enter (d) not to enter into

55. All that | wish to tell you is that you better change your opinion.
(a) should better (c) had better
(b) could better + (d) have better
56. He complained that he had too much work 1o cope up with.
(a) cope (c) for coping up with
(b) to cope with (d) no improvement

$7. They are waiting for his arrival since marning.

(a) were waiting (c) had been waiting

(b) have been waiting (d) waiting 4
S8. He asked the stranger who was he. P

(a) who he was (c) who had he been

(b) who he had been (d) who he has been
59. The book comprises 500 pages.

(a) comprises of (c) has comprised of

(d) no improvement

(b) is comprised of )
60. In today’s world one cannot live through one’s ideals.

(a) live by (c) live for

(b) live upto (d) live on
Direction: Choose the word which is most nearly the same as the given word below:
61. MALADY

(a) ill will (b) ilf luck (c) il feeling (d) iliness
62. DOCILE

(a) stupid (b) gentle (c) vague (d) stubborn
63. TOUR DE FORC

(a) long journey (b) feat of skill (c) spectacle (d) show of force
64. AUGURY

(a) dispute (b) altar (c) place of refuge (d) omen
65. DILATORY

(a) hesitant (b) slow (c) reluctant (d) unwilling

Direction: Select from the alternatives given under each word (word in capital letters) the word wich
is nearly more or less opposite in meaning to the key word.

66. FROFANE

(a) volatile (b) non-volatile (c) useless (d) sacred
67. SOLICITOUS

(a) concerned (b) indifferent (c) eager (d) noisy
68. TRITE

{a) hackneyed (b) correct (c) original (d) certain
69. NEOPHYTE

(a) veteran (b) violent (c) prodigal (d) desperate
70. BLITHE

(a) joyless (b) happy (c) generous (d) insolent

Direction: In each of the following questions the sentence has been split into six parts. The first and
last parts are numbered 1 and 6. The remaining four parts are given against P, Q, R and S. The first
and the last are in proper sequence but the parts under P, Q, R, S are jumbled up. Rearrange the
parts under PQRS in the proper sequence.
71. 1. One can understand the

P the Finance Minister to

Q stringency which forced

R should determine

S say that market forces

6. | prices of various services ~
(a)yPsQr (b) RSPQ [c) SRPQ (d) QPSR

The vexed question
open more colleges and
the clamour to

facing us is

to reserve more sears

6. for backward classes
(a) RQPS (b) QPRS (c) SPQR (d) PRQS

73. 1. His spontaneous
P the assassination of
Q light having gone away
R Mahatma Gandhi about the
S emotional oration on
ndous Im, .
z) PR - (c) PSRQ (d) SRPQ

QPSR (b) SPRQ

Many of the underdeveloped countries
substantial outside aid
In one way or another

no matter whether they receive
will promote the growth of their economies

in the process or not '
a) RSPQ (b) QRSP (c) SQRP (d) PSQR

OO O~
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It was in this garden
87. Rajan gave Sujan some money at simple interest. At the end of 16 years Sujan repaid the loan

75.1
P that the principal of harmony
Q tounderstand and Raj’an got three times the money he had given. Find the rate of interest.
R was at work (3) 183% (b) 18209 1 d) 122%
= (c) 125% (d) 127
S that Tagore came RE Acoat i K .
6. Vhroughout the ke ek :(':’0("‘:‘: :::R:é 4.00? a:d ; discount of 25% is offered on the coat. After adding tax the
(a) PQSR (b) R o) SQPR ) QP mes to Rs. 3240. Find the rate of tax
PSQ (c) (d) QPRs (a) 10% (b) 9% (g) 8% (d) 7%
Quantitative Aptitude 89 :':ie present age of a man is 3 times that of his son. 15 years ago, the man was 9 times as old as
’;‘s’“' What will be the age of the man after 15 years?
J6. What will pe tne digit at the unit’s place of 2'*? i i L 1) M o
(a) 2 (b) 4 (©)6 (dL& 90. A job can be completed by 12 men in 24 days and by 12 women in 12 days. How many days
would the 12 men and 12 women working together take to complete the job?
(a) 16 days (b) 8 days (c) 6.days (d) 5 days

91. A train can travel 50% faster than a car. Both start from a point A at the same time and reach

77. Find the value of 48 + 12 x [2of £ + 2of]
point B 75 kms away from A at the same time. If on the way the train ha lost 12.5 minutes

D 1 1
\a) .12 (b) 6 . ()3 (d) 3 while stopping at stations, the speed of the car is:
78. Wh;czh of the following is an irrational number? (a) 100 kmph (b) 110 kmph (c) 120 kmph (d) 130 kmph
(a5 (b) 0.31416 ()7 (d) None of the 92. lsr:r:;ow mar:: dlff::el;l ways 4 boys and 3 girls can be seated around a circular table if no two
above may sit together
79. The LCM of two numbers is 48. The numbers are in the ratio 2 : 3. The sum of the numbers is (a) 12 (b)7 (c) 192 (d) 144
(a) 28 (b) 40 (c) 16 (d) 24 93. : wi;e' :f\:ve;:gﬂ'\ 6: cm is bent in the form of a rectangle such that the length is twice that of its
readth. at is the area?
#. The salaries of A and B together amount to Rs. 40,000. A spends 95% of his salary and B spends (a) 242 sq cm b) 244 sq cm 264 d f th
85% of his. |f now their savings are the same, what is A’s salary? e . (b) sq (c) sq cm ( lNoneo.l e ahove
(a) Rs. 10,000 {b) Rs. 30,000 (c) Rs. 25,000 {d) Rs. 20,000 - ":.;0 ume of a sphereis'8 times that-of another sphere:What is the-ratio of their surface
81. In a 40 litre mixture there is 10% water. How many litres of water must be poured into it so that (a8:1 (b)a:1 {e)2:1 (da:3
water content increases to 25%? 95. Find the 10™ term of the sequence 3,7, 11, 15, ...
= . e e (a)43 (b) 39 (c)47 (d) None of the above
i 2 =
82. In an examination, a student scared 40 marks but failed by 40 marks. If the 40% of the total o ::;"::; :;;::' :::'e':::":'u'::;::);'c 121 cm’ and 81 cm” respectively. What is the ratio of
hich the
’n:':;s is required to pass the examination then what is the total marks for which exam was (a)11:9 (b)22:9 o S —
(a) 240 (b) 100 (c) 160 (d) 200 Directions: The given line chart shows the revenue from the sale of computers by a company
2 between the years 2001-2006, within the country and outside in crores of rupees. Study the
83. Due to reduction In price of rice by 20% a man is able to purchase 6 kg more for Rs. 540. What data carefully and answer the following questions: )
is the reduced price of rice per kg? e -
(a) Rs. 24 (b) Rs. 22.50 (c) Rs. 30 (d) Rs. 18
84. The average monthly income of a family of 5 is Rs. 10,000. What will be the average monthly
income if the annual income of one person of the family is increased by Rs. 1,20,000? seaaul
(a) 12,000 (b) 16,000 (c) 20,000 (d) 34,000 .
85. Atul and Babita enter into a business partnership in which Atul contributes Rs. z,ooo.fov 9 sl
months and Babita contributes Rs. 5,000 for 7 months. A profit of Rs. 1,100 will be divided
between Atul and Babita in the ratio of . a . ' :
(a) 6:11 (b)2:5 (c)7:9 (d)18:35 " 7 x 3 T 3
: 5 # & & §
86. Ajay owns 560 shares of a company. The face value of each share is Rs. 25. The company [~~ —— ey -".,
declares a dividend of 9%. Calculate the dividend that Ajay will get. ~C) O - .
(a) Rs. 1160 (b) Rs. 1200 {c) Rs. 1260 (d) Rs. 1300 7. What was the difference on sale of computers between Domestic and Exports in 2003-2004?
(a) Rs. 1000 crores (b) Rs. 700 crores (c) Rs. 500 crores (d) Rs. 1200 crores

A9



9’ in which of the following years was the percentage increase in sale of computers in domestic

sector maximum over the preceding year?
(a) 2002-03 (b) 2003-04 (c) 2002-03 & 2003-04 (d) 2004-05

Directions: Study the given pi chart and answer the following questions:
L:xpenses Incurred by a Factory

(o3
(s>

A = Raw material cost

B = Pucking marterial cost

C = Fixed manufaciuring expenses
D = Labour cost

39 If the total cost of production is 260 lakhs then what will be the value of D?
(a) Rs. 10.3 [akhs (b) Rs. 50.7 lakhs (c) Rs. 52.5 lakhs (d) Rs. 1.3 lakhs

100+ How much is the packing and raw material cost taken together when the total cost production

is 130 lakhs?
(a) Rs. 110 lakhs (b) Rs. 86 lakhs (d) Rs. 115 lakhs (d) Rs. 111 lakhs

Computer Theory

In Microsoft PowerPoint two kind of sound effects files that can be added to the presentation are
(a) .wav files and .mid files (c) .wav files and gif files
(b) .wav files and .jpg files (d) .jpg files and .gif files

101.

102. "Ctrl + Home" is used to
(a) Moves the cursor to the beginning of Document
(b) Moves the cursor to the beginning of Line
(c) Moves the cursor to the beginning of Paragraph
(d) All of the above

103. Full form of URL is ?
(a) Uniform Resource Locator
(b) Uniform Resource Link

(c) Uniform Registered Link
(d) Unified Resource Link

104 Which is most common language used in web designing ?

(a) C (b) C++ (c) PHP (d) HTML
10¢ Where are saved files stored in computer ?
(a) RAM (b) Hard disk (c) Cache (d) Any of above
. Which operations are performed by RAM ?
- (a) Read g (b) Write {c) Read and Write (d) Depends on computer

107. Which type of software Is an operating system ?

(a) Utility Software (c) Application Software
(b) System Software (d) Firmware Software
[08. What is the name of a device that converts digital signals to analog signals
(a) Router (b) Switch (c) Modem (d) None of above
109. VGA Is
(a) Video Graphics Array (c) Valatile Graphics Array
(b) Visual Graphics Array (d) Video Graphics Adapter
110, A firewall is

(a) An established network performance reference point.
(b) Software or hardware used to isolate a private network from a public network.
(c) A virus that infects macros.

(d) A predefined encryption key used to encrypt and decrypt data transmissions.

111. SMTPisa
(a) Networking Protocol
(b) Protocol used for transferring message between end user and mail server
(¢) Protocol used for smart card message interchange
(d) Encryption Standard

112. Which of the following is the fastest media of data transfer
{a) Co-ax'lal Cable (c) Telephone Lines
(b) Untwisted Wire (d) Fibre Optic

113, Which of the following I not an scripting language 7
(a) HTML {b] XML (¢] Postscript (d) Javascript

114. In a computer, most processing takes place in
{a) Memory (b) RAM (c) Motherboard (d) CPU

11>. 1ne keyboard shortcut to centralise the selected text in Word is
(a) Ctrl+Esc ) (b)Ctri+C {c)Alt+C (d) Ctrl + E

146. Which type of database stores data in two - dimensional tables? :
(a) Network (b) Hierarchical (c) Table * (d) Relational

7. is a field of science and technology based on disciplines such as computer
science, biology, psychology, linguistics, mathematics and engineering.
(a) Naturalintelligence (c) Articulate intelligence
(b) Artificial intelligence {d) None of the above

118. Which of the following is not a property of transactions?
(a) Atomicity (b) Concurrency (c) Isolation (d) Durability

119. The language that requires a user to specify the data to be retrieved without specifying exactly
how to get it is
(a) Procedural DML. (c) Procedural DDL.
(b) Non-Procedural DML, (d) Non-Procedural DDL.



420. A table can have only one
(a) Secondary key (b) Alternate key (c) Unique key (d) Primary key

121, fhe decimal equivalent of binary 1000 is .
(a) 7 (b)8 (c)9 (d) 10

122. TCP stands for $
(a) Transfer Center protocol
(b) Transmission Control Protocol

(c) Transmission Center Protocol
(d) Telephone Center Protocol

123. Modem is used:
(3a) Only to enter data into computer
(b) For calculating huge numbers
(c) For communication of data between internet and your computer
(d) To write information on the world wide web

124. Which of these domains is restricted to qualified organizations?
(a) .com (b) .org (c) .net (d) .edu

125. Where is the Internet's central hub and control center located?

(a) Near Washington D.C.
(b} Near the Microsoft campus in Redmond, Washington

(c) In a top-secret location
(d) Nowhere, the Internet has no central hub

126. High density double sided floppy disks could store of data

(a) 1.40 MQ. (b)1.44GB (c) 1.40 GB (d) 1.44 M8
127. The main electronic component used in first generation computers was
(a) Transistors (c) Integrated Circuits
{b) Vacuum Tubes and Valves (d) None of above
128. One millisecond is
{a) 1second (c) 1000th of a seconds
(b) 10th of a seconds (d) 10000th of a seconds
129. A Pixel is
(a) A computer program that draws picture
(b) A picture stored in secondary memory
(c) The smallest resolvable part of a picture
(d) None of these
130. Circular division of disks to store and retrieve data are known as
(a) Tracks (b) Sectors (c) Cycles (d) Rings |

131. Which of the following does not affect the resolution of a video display Image?

(a) Bandwidth

(b) Raster scan rage (d) Screen size

132. A computer Program that translates one program instruction at a time into machine language is

called a/an
(a) Interpreter (b) CPU (c) Compiler (d) Simulator

(c) Vertical and horizontal lines of resolution

133. opsc stands for

(3) Object Database Connecti
ivity,
(b) Oral Database Connectivity .

134. DML is Provided for
() Description of logical structure of database.

(c) Oracle Database Connectivity.
(d) Open Database Connectivity.

(b) Addition of nNew structure in the database system

(€) Manipulation &processinl of database.

(d) Definition of physical structure of database system

135. Currently the BlueRay DVD can store more than
(a) 10G8 (b) 100GB

of data,

(c)s0GB (d) 150 GB

136. Which of the following is not trye for a magnetic disk?

(a) 1tis expensive relative to magnetic tape

(b) It provides only sequential access to stored data

(c) Userscan easily update records by writing over the old data

(d) All of above

“7..Which one is the largest space?
(a) Kilobyte (b) Petabyte

138. Which of the following is not valid version of MS Office?

(a) Office xp (b) Office Vista

139. What is the function of CTRL+R in MS-Word
(3) Open the Print dialog box N
{b) Update the current Web page

140. A template stores:
(a) Graphics, text, styles, macros
(b) Customized word command setting
141. Which key do you press to check spelling?
(a) F3 (b) F5

142. An excel workbook is a collection of
(a) Workbooks (b) Worksheets

(c) Terabyte (d) Gigabyte
{c) Office 2007 (d) None of abovi

(c) Close the current window

(d) None of these

(c) Auto text entries

(d) All of above

(c)F? (d)F9

(c) Charts (d) Worksheets and charts

143, Which setting you must madify to print a worksheet using letterhead?

(a) Paper (b) Margin

(c) Layout (d) Orientation

144, Which can be used for quick access to commonly used commands and tools?

(a) Status bar (b) Tool bar

145, Which is not a domain of Artificial Intelligence?
(a) Virtual Reality (b) Intelligent Agents

14§ Key to represent relationship between tables is called

‘(a) Primary key (b) Secondary Key

(c) Menu bar (d) Title bar

(c) Expert System (d) None of the above

(c) Foreign Key (d) None of these

147. A number of letter that appears little above the normal text is called:

(a) Superscript (b) Subscript

(c) Subscript (d) Toptext



14X, The base of binary number system Is
(a) 2 (b)8 () 10 (d) 16

149. Which of the following is not a search engine
(a) Yahoo (b) Google (c) Altavista (d) Internet explorer

150. First generation of computer uses
(a) Vacuum tube (b) Transistors (c) LSI

General Knowledge

(d) Artificial Intelligence

151. Buddha’s preachings were mainly connected with
(a) Belief in one God
(b) Practice of rituals

(c) Purity of thought and conduct
(d) All the above

152. Who founded the four Mathas in the four corners of India?
(a) Shankaracharya (c) Bhaskaracharya
(b) Ramanujacharya (d) Madhavacharya

153. Who among the following gave maximum resistance to the British?
(a) Mughals (b) Sikhs (c) Rajputs (d)Marathas

154. The Indian Civil Service was introduced during the time of
(a) Lord Cornwallis (b) Lord Canning (c) Lord Dalhousie (d) Lord William Bentinch

155. The British received permission to establish their Company in India from

(a) Akbar (b}Shah Jahan (c) Jahangir (d) Aurangzeb

156, He abolished all the taxes not sanctioned by the ‘Shariat’. He ordered all paintings with human
figures removed from his palace. His concept of development, both agricultural and urban was
strikingly modern. The description given here fits -
(a) Alauddin Khilji
(b) Firoz Shah Tughlag

(c) Aurangzeb
(d) Mohammad bin Tughlaq

157. Reaching a place of meeting on Sunday at 900 hours, a man found himself 10 minutes earlier
than the man who was 30 minutes late. What was the scheduled time of the meeting?
(a) 0840 (b) 0910 (c) 0920 (d) None of these.

158. In a certain code, BAD is written as XZW, SAID is written as HZRW. LOVE will be written as
(a) OLEV {b) MRSU (c) BRTP (d) WXMN

L89. John divided his property between his three sons — Tom, Dick and Harry. Harry’s son Mathews
had some dispute with Dick’s son. Mathew’s son Ivan helped in solving the dispute later. What

is the relationship between Ivan and John?
(a) Son (b) Grandson (c) Great-grandson (d) No relationship

160. A river flows west to east and on the way turns left and goes in a semi-circle round a hillock,
and then turns left at right angles. In what direction is the river finally flowing?
(a) North (b) South (c) West (d) East.

161. Five boys were travelling by a t

162.

163.

w

164.

165.

166.

rain for an educational tour. After two statians, ‘::teio:'st:lf ':;
named Ashok, gets down from the train to have a cup of tea. After tive more s;no(her boy,
them get down to take a strall on the platform, Later, after three more s(a‘tnon”" of them get
Irfan gets down to fill his water bottle. Lastly, after passing seven more stations 3

down from the train having completed their journey. e
(a) 21 {b) 20 (c) 18 (d)

Julle was not at school on Saturday last. She was first absent for four days before that. Today is
Monday, the 31* of October. When was Julle first absent?

(a) Monday, October 24 (c) Wednesday, October 26

(b) Tuesday, October 25 (d) Thursday, October 27

If it is found true that the older generation is wiser and more tolerant and balanced in their

reactions to stresses and strains of life, what could be the causes of the above

A. Blunting of faculties

B. Losing interest in life

C. Disinterest of their children

D. Multifaceted experiences serving as lessons of life.

(a) Only A and B are correct (c) None is correct
(b) Only Cand D are correct (d) Only C and D are partially correct

Based on the given statements, state which one is not the correct conclusion

Statements :
A. "All surgeons are doctors
B. Some doctors are teachers
Conclusion :
(i) Some doctors are not surgeons
(i) Some teachers are not doctors
(lil) Some surgeons are not teachers
(a) (1) only (c) (ii) and (lii)
(b) (iii) only (d) None of these

Rita had eight best friends. They bought her a cake on her birthday and asked her to cut It into
eight pleces by slicing the cake three times. Rita being a very intelligent girl tried. What could be
the possible outcome?

(a) It was not possible for Rita to cut the cake into 8 pieces by 3 slices.

(b) Rita had to use 4 slices to cut the cake into 8 pieces.

{c) Rita could easily cut the cake into B pleces using 3 slices.

(d) In sufficient information

Glven the following premises-
() Al animals are quadrupeds
(i) Chalrs are quadrupedal objects

- Which of the following Is the most appropriate answer?
(a) All quadrupedal objects are animals .

(b) Ali objects are quadrupedal

(c) ANl quadrupedal objects are not animals

(d) Some quadrupedal objects are chairs as well as animals



167. Given the following premises-
(1) Al human beings are mortals
(i) All men are human beings

- Which of the following is the most logical deduction?
(a) All mortals are men (c) All mortals are human beings
(b) All men are mortals (d) All human beings are men

168. Anjali is older than Pooja but Pooja is not older than Rashmi. If Rashmi is older than Pooja but
not older than Anjali, then which one of the following is the correct relationship?
(a) Rashmiis older than Anjali (c) Rashmi is the oldest among all three
(b) Rashmi is the youngest of them all (d) Anjali is older than Rashmi

169. Fill in the next number

16,8,13,8,10,....

(a) 7 (b) 8 (c)9 (d) 12
170. Choose the word closest in meaning to inquest

(3a) Arrest (b) Unnatural death  (c) Accusation (d) Investigation
171. The main occupation of the Palaeolithic people was

(a) Fishing {c) hunting and gathering food

(b) animal husbandry (d) none of the above
172. In India, the places where copper, gold, iron and coal are found are in the order

(a) Kolar, Khetri, Kudremukh, Jharia (c) Kudremukh, Jharia, Kolar, Khetri

(b) Kudremukh, Kolar, Khetri, Jharia (d) Khetri, Kolar, Kudremukh, Jharia
173. At the time of India’s independence two-thirds of manufacturing and employment came from

the following two industries ¢

(a) Textiles and tea (c) Jute and tea

(b) Tea and coffee (d) Jute and textiles

174. The Supreme Court tenders advice to the President on matters of law or fact
(a) Only when the President seeks such advice
(b) Only if the matter relates to the basic structure of the constitution
(c) Only if the unity and integrity of the country is threatened
.(d) Only during financial crisis

175. Commercial banks finance rural credit directly and through
(a) NABARD (c) Cooperative societies

(b) Rural Banks (d) State government

176. The concept of joint sector Implies cooperation between
(a) State government and central government enterprises
(b) Small scale and large scale industries
(c) Domestic and foreign industries
(d) Public sector and private sector industries

177. Itis alleged that industrial sickness is sometimes ‘engineered’ by owners/promoters for ulterior
motives. Which of the following is not an internal factor for such sickness?
(a) Mismanagement (c) Diversion of funds
(b) Technological obsolescence (d) Wrong dividend policy

178. Assertion (A) : A juvenile delinquent is a child with aggressive and anti-sacial behaviour
Reason (R) : The delinquent has had a tough childhood, being disciplined by repeated
punishment and beatings from his parents
(3) Ris sufficient to explain A completely () R and A are independent of each other
(b) Ronly explains A indirectly (d) Both A and R are false

179. At a service station for small vehicles, a machine is able to complete washing of 16 cars in 36
minutes. How many cars can the machine wash in 6 hours?
(a) 96 (b) 160 {c) 216 (d) 360

180. I- takes 20 days for a pond to get filled with rain water. If the level of water doubles each day,
then how long would it take to fill half the pand?
(a) Sdays (b) 10 days (c) 15 days (d) None of the above

181. A man started walking from a point towards south-west. After Sminutes he turns right at right
angles. After 10 minute she again turns left at right angles. In what direction is he finally
walking?

(a) N-E (b) S-W (c)S-E (d) N-W
182. Marsh gas, formed from decaying organic matter and also found in coal mines, is
(a) Carbon dioxide (b) Methane (c) Ethane (d)Carbon monoxide
183, The drug reserpine is Used o
(a) Cure arthritis (¢) Reduce high blood pressure
{b) Alleviate pain (d) Reduce high palpitation
184. The Asoka pillar at Allahabad provides information about the reign of
(a) Chandragupta Maurya (¢) Samudragupta
(b) Chandragupta | . (d) Chandragupta Il
18S5. The two persons who played a vital role in the Integration of princely states in India were
(3) Sardar Patel and Jawaharial Nehry (c) Sardar Patel and Rajendra Prasad
(b) Sardar Patel and V.P. Menon (d) Sardar Patel and K.M. Munshi

186. bdioarhon dating is normally used to estimate the ages of
(a) fossils (b) rocks (c)ancient buildings (d)babies _

187. Gasoline is the name given to the same substance as
(3) diesel (b) petrol (c) natural gas (d) erude oil

188. The gas emitted by burning wood Is mainly
(a) carbon monoxide  (b) sulphur dioxide (c) carbon dioxide (d) methane

189. Which of the following is not a planetacy wind?._,
(a) easteriies (c) trade winds
(b) westerlies {d) land and sea winds



190. soll that owes its colour to oxides of iron is

(a) regur (b) bangar (c) laterite (d) alkaline
191. Containers for carrying strong acids are made of
(3) platinum (b) brass (¢) copper (d) lead
192. The earliest texts on architecture is believed to be contained in
(a) Sulva Sutra (c) Bija Ganita
(b) Silpa Sastras (d) Siddhanta Siromani
193. Which is the monument at Delhi which is the precursor of the Taj Mahal
(a) Humayun's Tomb (c) The Moti Masjid at Lal Qila
(b) The Safdarjung tomb (d) None of the above
194. Match the following
A. Mahad Satyagraha 1927 1. Dalit women's right to cover their breasts
B. Vaikkam Satyagraha 1924-25 2. Dalits’ right to use water from a public tank
C. Rioting in Travancore in 1859 3. Dalits’ right to enter Hindu temples
A B C
(a) 2 1 3
(b)) 3 1 2
€2 1 3
@2 3 1

195. The Attorney General of India is appointed by
(3) The Chief Justice of India
(b) The President on the advice of the Chief Justice of India
(c) The President
{d) The Parfiament

196. Which soil needs only little irrigation as it retains soil moisture?

(a) Black (b) alluvial (c) red (d) laterite

197. Peter is half his father’s age now. Fifteen years ago he was one third of his father’s age. How old
will Peter be after S years
(a) 45 (b) 40 (c) 35 (d) 30

198. Which of the following provision of the Indian Constitution can be amended by Parliament by a
simple majority?

(a) Provision regarding establishment of High Court

(b) Provisions concerning federal judiciary

(c) Provisions concerning representation of states in Parliament
(d) None of the above

199. Given the premise that ‘intelligence is one of the contributory factors of success’, which of the
following is false?
A. Allintelligent persons are successful
B. Some intelligent persons are successful
C. Some successful persons are not intelligent
D. All successful persons are Intelligent
(a) AandC
(b) Donly
(c) AandD
(d) BandC

200. At a farewell party of 60 students, each student shakes hands with every other student. How

many total handshakes will there be?
(a) 3540 (b) 1770 (c) 3600 (d) 3125
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Alternative English

Direction: In each of the following sentences certain parts have been underlined which are marked
abc am; d. One of these underlined parts contains an error. Mark that part as your answer.

agrees to follow the principle of secularism.

to him joining the party if he
201. mg?_mobkctb" . ¢ d
red the room when the light went out.
202. No sooner had he ente . d

a b
203. 1 always had a great interest and admiration for the )ﬂjﬂnn of Bezbarooah.
a b c

zoa.m!:g gjml!;oﬁnot;ﬁ;mthepost.- .
205. Most likely the shops ﬂu_gl;mm closed tomorrow and m%axm Puy M:Mihni y.
206. ﬂhy:mum me when your pgog‘:emg can be easily ;gdm by your brother?

207. Al m: old furniture 1: this office m:_bggn replaoedcm 3hgdmw one.

208. All the _Img;;gnx parties should be i_n:_i;gg and involved mngagg;m

£09. Please vote for the memt
- a b mu(!ﬂ.hghg!g has done m_g_dmgn for our village.
- We judge our friengs
eston b ’mgh what they say ang LhﬂL:smm-
rections: Fi ,
Find the one worg substitution in each of the following questions.

211. A school boy who cuts classes 1requenliy isa-

(@) truant (b) escapist (c) irregular (d) idler
212. To tell the truth solemnly

(2) to take oath (b) to testify () to concoct (d) to swear
213. One who is devoted 1o pleasure

(a) epicurean (b) debonair (c) happy (d) eponymous
214. A belief' that is against the Principles of a particular religion

(3) atheism (b) blasphemy (c) heresy (d) apostasy

215. A person who €ats too much

(a) glutton (b) greedy (c) reveller (d) none of these

Di 2 i
. thion Choose_ from the answer choices the word or phrase which conveys more or less the same
€aning as the idiom/phrase underlined in each of the following sentences.

216. An honest person never Pﬂm.md_lmg with his friends.
(a) never ignores (b) never deceives (€) to be inconsistent (d) never betrays

217. 1don’t know how you can give an after-dinner speech !
(a) ‘without Preparation (b) casual (<) ordinary (d) factual

218. The police to trace the culprit.

(a) took no pain ] (€) used all available means

(b) did very little (d) made no attempt
219. He was all at sea when he began his new job

(a) Happy (b) sad () puzzied (d) excited

220. This seaside town does not exactly fit the bill as the best place to spend a holiday.

(a) is not suitable (c) does not suit one’s pocket

(d) not comfortable

(b) is expensive
wortl has been underlined. It is followed by four

Directlon: In each of the following sentences one
choices the word or phrase which Is nearest in

words marked (a), (b), (c), (d). Select from these
meaning to the underlined word.

221. Our society considers any discussion on sex as a taboo.

(a) ageneral agreement not to talk about (c) something dirty
(b) something punishable (d) a difficult subject
222. My son is suffering from somnolence.
(a) intoxication (c) rheumatic pain
(b) weakness (d) sleeplessness



(d) quarrelsome

223. He is extremely garrulous.
(a) proud (b) unreasonable (c) talkative
224. she used to regale us with her anecdotes
(b) tire (c) Natter (d) entertain

(a) bore
225. The new government decided to rescind most of decision of the previous government.
(a) modify (b) rectify (c) revoke (d) reconsider

Direction: in each of the following sentences a word or phrase is underline and is followed by four
words marked (a), (b), (c), (d). Choase from these words the one which is nearly opposite in meaning

to the underlined word.
226. The officer gave just a gursory glance to the papers brought to him.
(a) curious (b) superficial (c) thorough (d) through
227. His yrbane attitude is most noteworthy.
(a) rude (b) rustic (c) indifferent {d) helpful
228. The measures taken by the new government are likely to augment employment generation.
(a) diminish (b) restrain (c) constrain (d) circumscribe
229. Do not deprecate somebody’s achievements if you fail in your own efforts.
(a) approve (b) encourage (c) appreciate (d) exaggerate
230: The judge did not doubt the yeragity of his statement.
{b) maratity (c) propriety (d) fatsity

(a) truth
Direction: Each of the following sentences has been left incomplete. Under each sentence four
choices marked (a), (b), (c), (d) are given. You are to complete the sentence by choosing one of these

choices.

231. Not until a student has mastered algebra the principles of geometry.
(a) he can begin to understand (c) he begins to understand
(b) can he begin to understand (d) begins understanding

you by your first name?
(b) for calling

(c) to.my calling (d) that | do call

232. Would you object

(a) that!call
233. You your reservations well in advance if you wish to ga to Delhi during the Puja holidays
(a) had better to get (b) had to get better  (c) had better got (d) had better get

(c) had met my friend

234. Itis a long time since | in Shillong.
(d) have been meeting my friend

(a) met my friend
(b) have met my friend

to the ground.
(c) that why the apple fell

235. Newton wanted to know
(d) why was the apple falling

(a) why did the apple fall
(b) why the apple fell

Direction: In each of the following sentences the sentence has been split lntq six PJ""R": ‘fril:“ "M
the last parts are numbered 1 and 6. The remaining four parts are e agal'ﬂ“ ety
and the last parts are in proper sequence but the parts under P, Q, R, S are jumbled up. Rearrang,
the parts under P, Q, R, S in the proper sequence.

236. 1. Nehru fervently believed in

P India but he was

Q who always unrelentingly

R the glory and greatness of

S always a great humanist

6. struggled against colonialism

(a) QPSR (b) RSPQ (c) QPRS (d) RPSQ
237. 1. The difference between a

P is a politician thinks

Q and a statesman thinks

R politician and a statesman

S of the next election

6. of the next generation

(a) QPSR (b) RPSQ (c) RSPQ (d) PSQR

238. 1. In order to enable

P their Cropping pattern

Q Kisans to rationally determine

R natified by the gavernment

S support prices are being
(6.) 2 advance of the sowing

a) QPSR (b) SPQR

(c) RSPQ (d) PQsR

) 239.1, Knowledge ¢annot be

P and ideas cannot be
Q unless they could be
R transformed into power
S made to rule the world
6. expressed with force and

conviction
(a) SRQP (b) PSQR (c) RPSQ {

d) PSRQ

240. 1. If you violate a trust
P and others are
Q doing business with you
R likely to stop
S your victim is apt to seek revenge
(6. at least under favourable terms
a) SRQP (b) SPRQ - (c)Qrps
: (d) RQsp

Dm: Fi
illin the blank in each of the lo"ﬁwll‘ Sell!EI'Oes with t"e Correct p'!noﬂﬂon

241. You i
o 'r:rust dispense lh:bservices of the servant lmmediateby
) by (c) with . (d) abo
about

242, He is unreliable; do not coun
4 t___his help.
{a) for (b) in ’ (c)to
(d) on



243. The .shrill sound of the telephone broke ____ his thoughts.
(a) in upon {b) into (¢) on upon (d) on

244, The two friends have fallen ____ again over a petty matter.
(a) through (b) for (c) out (d) with

245, How did you get ____ when you went abroad.
(a) about (b) up (c)on (d) over

Direction: Read the following passage and answer the questions that are based on it.

Most of us use the products of science - railways, aeroplanes, electricity and thousands of others -
without thinking how they came into existence. We take for granted, as if we were entitled to them
as a matter of right. And we are very proud of the fact that we live in an advanced age and are
ourselves so 'advanced’. Now, there is no doubt that our age is a very different one from previous
ages and | think it is perfectly correct to say that it is far more advanced. But this is a different thing
from saying that we as individuals or groups are more advanced. It would be the height of absurdity
to say that because an engine driver can run an engine and Plato or Socrates could not the engine
driver is more advanced than, or superior to Plato or Socrates. But it will be perfectly correct to say
that the engine itself is a more advanced method of locomotion than Plato's chariot was.

246. Which one of the following statements is true?
(a) An engine driver is cleverer than Plato or Socrates.
(b) Plato or Socrates is in no way inferior to the engine driver.
{¢) Plato or Socrates surpassed the engine driver in every respect.
(d) The engine driver cannot be compared to Plato or Socrates.

247. According to the author the present age is far more advanced than
(a) all the previous ages in some respects.
(b) the age of Socrates and Plato in some respects.
(c) some of the previous ages in all respects.
*(d) all the previous ages in all respects.

248. Many of us make use of machines
(a) with very little knowledge about their mechanism.
(b) without any knowledge of their historical significanc
(c) with full knowledge of their genesis.
(d) without knowing how they were invented.

249, People today are very proud because they live
(a) in a philosophically advanced age
(b) in a materially advanced age
(c) in a scientifically advanced age
(d) in a spiritually advanced age

250. In this passage the author mentioned Plato and/or Socrates to emphasize that
(a) they are/were men of great scholarship
(b) people as individuals in the modern age are not more advanced than their predecessors
(c) the engine is a better mode of locomotion than Plato's chariot
(d) Plato and Socrates had greater respect for learning
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